o
<a = .-
; . |
N o 1 T |
L = ] =4 o'
] I D
b .
Z b \.f—c—_“'_“ = fe————— @
o @) O %
L 4
w /Il —J ]
i ~aF W
L_ul ; o = » gt
- (] Tﬁ
Ly
/
13 £ o L Z : .
Y—f'* TN Raumautfteilung:
i \ Il “ i Wohnzimmer:
- — =t oo -_'r; L o Schlafzimmer:
ey, , N Y X Kinderzimmer:
SEER T i , ...... S - Kiiche:
— ¥ : % T Abstellraum:
9 [) y — Vorraum:
; — ’ 0 T T = Bad:
| (R =04 p— we
' — Stdloggia:
: Gesamtflache:

22,75 m?
13,20 m?
11,81 m?
10,40 m?
1,17 m?
11,28 m?
4,48 m?
2,20 m?
8,77 m?
86.06 m?

Real Service




